PRINCIPLES OF ECONOMICS HSSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes | Version Number [1[8[5[5]

NOTE: Section - A is compulsory. All parts of this section are to be answered on the separately provided OMR
Answer Sheet which should be completed in the first 20 minutes and handed over to the Centre
Superintendent. Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Choose the correct answer A/ B/ C /D by filling the relevant bubble for each question on the OMR
Answer Sheet according to the instructions given there. Each part carries one mark,

1) Who was the exponent of welfare economics?
A Alfred Marshall B. Adam Smith
c. Lionel Robbins D. David Ricardo
2) WJTin 5% change in the price results 10% change in the quantity demanded. Elasticity of the demand
will be:
A. Ed =1 B. Ed=>1 c. Ed <1 D. Ed=0
3) If the supply curve touches the Y-axis, the elasticity of the supply will be:
A. Less than unity B. Equal to unity
C. Greater than unity D. Equal to zero
4) If the total utility of a commodity is maximum then what will be the marginal utility?
A Maximum B. Positive C. Negative D. Zero
5) The other name of Law of Equi-marginal Utility is-calied:
A Law of substitution B. Law of Demand
C. Law of Supply D. Law of Diminishing Returns
6) The cost which never becomes zero even when a firm is not producing anything will be:
A, Variable cost  B. Fixed cost C. Marginal cost D. Total cost
7) The second name of the Law of Diminishing Returns is called:
A. Law of Diminishing Cost B. Law of Constant Cost
C. Law of Increasing Cost D. Law of Constant Returns
8) The necessary condition of equilibrium for a firm is:
A AVC = AFC B. TVC =TFC C. AR = MR D. MC = MR
9) Each factor of production gets reward equal to:
A Marginal product B. Average product
C. Total product D. Total revenue
“10) Which statement is true?
A NNP = GNP + Depreciation allowance B. NNP = GNP - Depreciation allowance
C. NNP = NI D. NNP = DPI
1) Which one of the following is transfer payment? )
A Bus fare B. College fee C. - Pension D Salary
12) If no money is used to exchange goods, it is called: '
A Free trade B. Black market C. Currency D. Barter
13) Hon many phases are there in a ‘Business Cycle'?
A Four B. Five C. Six D. Seven
14) Theory of ‘Comparative Advantage” was presented by:
A Adam Smith B. David Ricardo C. Hicks D. Keynes
15) What is the rate of Ushr on the output of land, irrigated by natural sources?
A 2.5% B. 5% C. 10% D. 20%
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PRINCIPLES OF ECONOMICS HSSC-
Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your
answers neatly and legibly.

SECTION — B (Marks 36)
Q.2 Answer any NINE parts. The answer to each part should not exceed 5 to 6 lines. (9x4=236)
0] Write four main points of Lionel Robbins’ definition of economics.
(i) What is meant by the change in quantity demanded?
(iii) Define Cross elasticity of demand. Write its formula.
(iv) Describe the relationship between marginal utility and total utility.
(v) Define Marginal cost and Marginal revenue.
{vi) Write definition of the ‘Law of Diminishing Returns’.
(vii) Draw a diagram showing Normal profit of a firm in the short run under perfect competition.
(viiy  Write any four assumptions of the ‘Marginal Productivity Theory’.
(ix) Show the circular flow of national income with the help of a diagram.
(x) Write definition of ‘Quantity Theory of Money’ given by Prof. Taussig.
(xi) Differentiate between “Balance of Trade" and “Balance of Payments”.

(xii) Write a short note on Ushr,

SECTION —~ C (Marks 24)
Note: Attempt any TWO questions. All questions carry equal marks. (2x12=24)

Q.3  Explain the 'Law of Equi-Marginal Utility’ with the help of a schedule and diagram.
Q.4 ~ Show faur conditions of short run equilibrium of a firm under perfect competition.

Q.5 Discuss Adam Smith's ‘Canons of Taxation”.
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